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Pzl RC-40 #JZ 100mm 100m2
= 1 49, 190
KA LD 5 MifEErE H=1. Im W=1. 1m 664
= 1 516, 384
H— KL —/Uf= Gr-C-2B 4m
= 1 6, 408
A - A AR 1
[543 ]
= 1 15, 645, 078
AT Bk
t 58.9 67, 323 3,965, 324
AT Bk
t 0.9 42,709 38, 438
ARG R LY FAMTHREE
t 3.2 452, 685 1, 448, 592
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HOOflf =%

THX Sy - THE - RSB - HBl MoK PO B B A HAm & | i E (A5
78 TARE R SR HTRA AEHEES 1000 X 2000,
1000 X 3000
m2 392 5, 737 2,248, 904
78 TARE R SR HTRA AEHEES 1000 X 2000,
1000 X 3000
m2 26 3, 404 88, 504
el i
t 29. 4 25, 884 760, 989
5 36 i
t 75.1 10, 234 768, 573
B TS (EHG)
m2 392 655. 4 256, 916
A5 7% v A RN (7 s
m 70 602 42,140
ME R E R PE500mm FHE E X 7. Om~11. 0
m
[543 ]
%N 15 252, 865 3,792,975
I - RO 30 - 78 R - R v
Mt
[ AseAf e Tt 1]
= 1 897, 634
ME R E R £E500mm FHE X7, 0m 11, 0
[ AseAf e Tt 1]
VN 1 1, 336, 089
A - A AR 1
[15H]
= 1 4, 283, 100
A i
t 5.4 19, 956 107, 762
5 L6 i
t 61.6 12, 700 782, 320
5 L6 BEER (FFa%E)
t 22.7 20, 989 476, 450
A AT 7 R 1
t 0.4 888, 521
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it

£

THX Sy - THE - RSB - HBl MoK PO B B G AT & i E (A5
B UM E -2 U - A | s
]
m2 304 740. 6 225, 142
B UM E -2 UG - (A | makE
]
m2 130 1,325 172, 250
A5 7% v A RN (7 s
m 130 602 78, 260
A5 7% v A HEN (7" A FERE
m 65 1,067 69, 355
ME R E R PE500mm FHE F X 7. 0Om~13. 0
m
[15H]
ZN 0 360, 802 0
ME R E R PE500mm FHE F X 7. 0m~13. 0
m
[15H]
ZN 4 370, 760 1, 483, 040
B R B T
= 1 34, 599, 891
KE+D 5 MitEErE H=1. 1m W=1. 1m B
St 7 L
[A1]
] 44 2,022 88, 968
KE+D 5 MitEErE H=1. 1m W=1. 1m B
St 7 L
[A2]
] 78 2,022 157, 716
KE+D 5 MitEErE H=1. 1m W=1. 1m B
St 7 L
[R5 1]
] 0 2,022 0
K+ 5 FEAETR H=1. Im W=1. Im
[ s 22 ]
] 42 5,713 239, 946
KRB+ 5 N -
] 376 2,611 981, 736
i+
[A1-A2]
m3 0 2,313 0
%+
[A1-A2]
m3 140 1,038 145, 320
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it

£

THEXSy - TFE - Fpl - M50 B BRI RAL K & B HA & | (GBS
RN IR SERERRMR S 12m SR
WATIARE 11.5m ARG
[a1] £ 11.5m
58 0 194, 913 0
RN IR SERERRMR S 12m SR
WATIAE 11.5m FHMEHR LK
[A1 = k5G] £ 11.5m
58 57 311, 160 17,736, 120
RN ITT7 SEHERRAR S 9.5m #
RIRITIAR 9m YRR S| $k
[A2] £ 9m
58 0 144, 833 0
SRR IR SEEARIE S 9.5m 4
RIRITIAR 9m YRR S| $k
[A2] £ 9m
58 69 147, 045 10, 146, 105
RN IIT7 SEERRARR & 8m ¥
MRMWGIKE 7.56m
[P15144]
58 0 8, 100 0
e IR SEYEARIE S 6m iR
WATIAE 5. 5m I8R5 14k
[ BT ] £ 5.5m
58 30 34, 849 1, 045, 470
JAuy b B L SS400 #fmyh 2 36mm
[A1 = FEHiG0]
t 6.9 387, 543 2, 674, 046
bl Ek L
[a1]
t 0 86, 691 0
bl Ek L
[a2]
t 0 82, 451 0
bl Ek L
[a2]
t 16 86, 529 1, 384, 464
15 IE T
= 1 1,242, 720
15U 17 /2 A s
m 0 18, 827 0
15U 17 /2 A s
m 60 20, 712 1,242, 720
A B L
= 1 16, 824, 396
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
i e k= A 338 A H
= 1 6,142, 526
i e k= A 222 N H
[7:30-18:00]
= 1 4,197,798
S AL A 2T
[% ]
= 1 459, 620
AR FE AR B B 51AH
= 1 1, 254, 750
AW B B 222 N H
[7:30-18:00]
= 1 3,291, 816
A% 8 o e B B 82AH
[% ]
= 1 1,477, 886
B T HE
= 1 166, 494, 111
BTl TE:
= 1 30, 138, 528
B ST ¢
= 1 12, 246, 105
TR
= 1 7,518, 739
I Ak T A
= 1 165, 926
T RR A oy PR ST A B 5[
Ry 0 0
T RR A oy PR ST A R Al
= 1 4, 493, 368
AR T
t 66. 1 7,948 525, 362
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
IR T
t 147. 2 7,625 1, 122, 400
IR T
t 218.4 5, 548 1,211, 683
e 2y
= 1 106, 581
X/
= 1 106, 581
LS 3PNl (¢
Ry 0 0
FERAEE
Ry 0 0
Htre m
= 1 206, 940
FE AR B R A
= 1 95, 503
i TAR R4 )" A
= 1 16, 020
B M R FEART IR
= 1 55, 366
42 [EE FE i RR A ARDB RS Sk 2y T AT - B
= 1 40, 051
B RRYCE
= 1 1,022, 839
BUGsRRYeES (B LEF 1)
= 1 1,022, 839
BUGERRYGEE (K5 1)
= 1 3, 391, 006
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
HiE R (FE L)
= 1 17, 892, 423
Wi
= 1 196, 632, 639
BTk X=giiv
= 1 59, 335, 940
THBE RS AE S Bl MR
= 1 5, 025, 000
R 5]
= 1 260, 993, 579
— R
= 1 39, 016, 421
Tk
= 1 300, 010, 000
THE B 2 %8
= 1 30, 001, 000
TG
= 1 330, 011, 000
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